0 Adding Two 3-Digit Numbers - No Carrying 0

LO: to use column addition
Calculate the answer to the following:

273 451 304 615

T 514 * 505 T 1463 LY,
153 805 572 531

t 716 t 102 T 13 T 547
202 370 622 312

* 53¢ t 116 + 375 + 55
476 155 371

t .03 t 34 t 628

Challenge: Complete the following calculations:
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0 Adding Two 3-Digit Numbers - No Carrying 0

LO: to use column addition
Calculate the answer to the following:

273 451 304 615

T 514 * 505 T 1463 T 17
787 676 767 787
153 805 572 531

t 716 t 102 t 13 T 547
369 907 785 798
202 370 622 312

* 536 t 116 + 375 + 55
438 4,86 997 563
476 155 371

t .03 t 34 t 628
879 389 999

Challenge: Complete the following calculations:
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